Earned Value Situation for Project.








Task�



Original Budget


�



BCWS�



ACWP�



BCWP�
�
A�
$20,000�
$20,000�
$15,000�
$20,000�
�
B�
$25,000�
$20,000�
$19,000�
$20,000�
�
C�
$16,000�
$16,000�
$15,000�
$16,000�
�
D�
$18,000�
$15,000�
$2,500�
$1,800�
�
E�
$10,000�
$5,000�
$3,000�
$3,000�
�
F�
$20,000�
$0�
$3,000�
$4,000�
�
Total�
$109,000�
$76,000�
$57,500�
$64,800�
�



Project planned Duration was originally 10 months.





BCWS = Budgeted cost of work scheduled ( What we thought it would cost to do what we had planned to do by now )





ACWP = Actual cost of work performed ( What it actually cost to do what we have done by now )





BCWP = Budgeted cost of work performed ( What we thought it would cost to do what we have actually done now )





CV = Cost Variance ( The difference between what we thought it would cost to do this much work and what it did cost )





SV = Schedule Variance ( or time variance ) ( The difference between how muck work we thought we could get done for this cost and how much we have done )





BAC = Budget at Completion ( Original planned budget of the project )





TAC = Time at Completion ( Original planned duration of the project )





Project Status Calculations based on the figures provided in the table above,





CV = BCWP- ACWP = $64,800 - $57,500 = $7,300  under budget or 11% under budget ( 89% spent )





SV = BCWP - BCWS = $64,800 - $76,000 = ( - $11,200 ) behind schedule or over time





ECAC = ( ACWP / BCWP ) x BAC = ( $57,500 / $64,800 ) x $109,000 = $96,721 est cost at completion





ETAC = ( BCWS / BCWP ) x TAC = ( $76,000 / 64,800 ) x 10 months = 11.73 months to completion





			Conclusion = Project is projected to be under budget but over time. 


